e (T = 6B Lk, Resta de 3 digitos

Nombre: Fecha: Puntuacion:

992 977 244 757 963
—369 —181 -174 —-377 —-364
872 871 953 965 617
—531 —/08 -649 —-100 -464
740 742 642 6638 523
—-27/8 —655 —-569 —-198 —248
254 523 714 438 520
217 -141 —658 —361 —-370
296 902 316 170 498

-170 -169 -214 -119 =117
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G (s =9 GRo L,

Resta de 3 digitos

Nombre;

992
—369
623

872
—531
341

740
—-278
462

254
217
37

296
-170
126

977
—181
796

871
—/08
163

742
—655
87

523
-141
382

902
-169
/33

244
-174

953
-649
304

642
—-569
73

714
—658
56

316
-214
102

Fecha:

757
—-377
380

965
—-100
865

663
—-198
470

438
—361
77

170
-119
51
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Puntuacion:

963
—364
599

617
-464
153

523
—248
275

520
—-37/0
150

498
=117
381
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